ECE2280 Homework #9 Spring 2007

1. Use [Vpe[=0.7, B=100. Analyze the following circuit(s) to find all DC currents and voltages. Analyze the
circuit to find the midband gain, Vo/Vsig, Rin (ignore Rs), Rout(ignore Ry ), and find the low frequency pole
{Each circuit below is worth 1 problem for a total of 3 problems}
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2. Note that the circuit below is the combination of (b) and (a) combined. Analyze the circuit to find the new
Rin(ignore Rs), Rout(ignore Ry,), and midband gain, Vo/Vsig. What is the value of fi for this circuit?
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3. Note that the circuit below is the combination of (a) and (c) combined. Analyze the circuit to find the new
Rin, Rout, and midband gain. What is f.? THSV
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